5/20/2015 Print Test

PRINTABLE VERSION

Quiz 2

You scored 100 out of 100

Question 1

Your answer 1s CORRECT.

Find the linear function f that satisfies the given conditions:

Xl g ] 3(3, H L
passes through (-6, 4) and (5, -6)

fm=_Jo 104 Slope: 88 _ -b-% . -lo

11 11
2) ade S-(-6) N
10
=—-—x+4 -
b) Fix) 11 "'"l' - —:—E—fob)
|
_ g e
o @ TEI="5g ™55 = =10 x-bo t4
\ I
f@=-1Ta- 1>
- -lo
Y = X ~bo +
Flx)= - x—4 " I "
e) 10
Y = T2 x - le
f)  None of the above. n {
Question 2
Your answer 1s CORRECT.

Complete the square to write the equation in the standard form Ax) = a(x - h)2 + k.

Flx) =35 + 30z + 81
g F@=3a—57+3  Fix) = 31x*+10K) 8l

o \* o z
b fm=3aesios Ty = 3Ix +lox 2 ) 81 - 3( z)
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o SR =3(x+5) +31
4 FD=3(x—107+6

© fx)=3(x+5)7 +6

f)  None of the above.

Question 3

Your answer 1s CORRECT.

Given

Find the y-intercept.

Print Test

Lo = 3(x+5) + b

l‘.,"'\.r\‘\‘e,r“r;t : X=D©

Flr)=(2—x) (x—5)
3
flLoy = L2-0) (0-95)

a)  (0,250)
ly= 2 (-l2s )
(0, -250)
¢ (0,2) Flo) = — 250 LoJ"ZSo)
d) (0,10)
e)  (0,-10)
f) = None of the above.
Question 4
Your answer 1s CORRECT. CL= -+
State the coordinates of the vertex of the parabola. h =-4 8
Flx)=-47 — 4871 — 139 = -139
a) ( _6= _5:' _ b
Vertex (== 2k, )
b) © (&3) : 2a ) 2a
Ef‘mu-lﬁ- A
o - ) -[ 48 {,( 111 ) = (~b,fl-v)
d o (24,5) 2(-4) -8 ‘
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0 © (63 Flby = -4 (¢?) - 481-L) -139=

f)  None of the above.

Question 5

Your answer 1s CORRECT. / (."Sl *)

Find the linear function f{x) which satisfies f{-5) =7, and has a graph that is parallel to the line

a) O Jlx)=3x—22

@ flz)=-3x—8

¢ O flx)=-3x—21

3 = -3%x -8
d) Flx)y=5x-15
e) O Slx)=-3x+22
f)  None of the above.
Question 6
Your answer is CORRECT. A 1))
Find the linear function f(x) that satisfies f{1) =15, and has a graph that is perpendicular to the line
dx—2y=-3
a)  Sflx)=d4x+9 -2.3=~3¥.—.3 /'“_L" -
¢
oy Y= 4x+Z
@ Flx) == ati—
Y- 5= L =)
L +5 N
fla)=mun
¢) 4 3 _ x4+ .!.4 +5
flay=xd 20 s -l g+
d) 4 0= F* &
) O flx)=-4x+9 Lt &b
5 4 o

f)  None of the above.
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Question 7

Your answer 1s CORRECT.
6=\ b=-\0 ¢-s5

Find the vertex of the quadratic function

Pl S

2000, (550

@ (5,-20)
¢ (-5.-30) L {ZL'{-_\\= (5 £1s))

d (-5,-20) oy S2-lo(H+E" 25-so+5- -20
e) (5.30)
5 -2
f)  None of the above. L ! o)
Question 8
Your answer 1s CORRECT.

Find the vertex of the quadratic function

flx)=4x — 241 — 10

-b _
) = f)

b) (3.-6)
2 o\ - [ 3 FLaY)

0 (4.1 ( 5, FL) (2

G (3.46)  £18)=# 3% ~24Lad-le = 3L - F270 = 7 o
3,26 _

e ( ) (3, -4

f) ~ None of the above.

Question 9
Your answer 1s CORRECT.

Given the function ‘/ rOS' hVL

FRVER £85—9 U
Which of the following statements is true? e “:::\u{'
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L = £(2))

a)  f(x) has a maximum value. The value is -25. 20 )

b)  fix) has a maximum value. The value is 65. k:% ) S— l :%)) < [' 4, Fl"‘l'\\

@ J(x) has a minimum value. The value is -25. &Lf‘l'\ - (-"01 + 8l-4)- ¢.',

d)  f{x) has a minimum value. The value is -5. = |y -32 -9= -25
e)  f(x) has a minimum value. The value is -7.

f) ~ None of the above.

Question 10

Your answer 1s CORRECT.
Find the quadratic function satisfying the following conditions: (oo
¢ the axis of symmetry is x = 10 P
¢ the y intercept is (0, 100) O

¢ there 1s only one x-intercept.

3 = LX—\O\L

2
Flx) =5 +10x+ 100
a) la'-: AE — 200 +I100

b) © F(x)=-10% + 100

¢ O Flx)=-2 +20x+ 100

Flx)=x —20x + 100
o) O F(x)=10%" +x+ 100

f)  None of the above.

Question 11
3-: G.L&"'h.‘z ¥ Kk

Your answer is CORRECT. (00)
Find the quadratic function flx) satisfying: 3: o ( % +5) 2 + \ /
 the graph passes through the origin - o LS I-') +\
e the vertexi1s(-5,1) (0 B
-\
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_ s B - ) 5)" 4|
Y ﬂxj_zﬁx 5 x lo _ZSLX‘I' +
__ 1 2 2 _ =\ 2 s) +|
f@)=-ge i —x La__i-slx«-lox-a-z)
__ L .2 I N S 2 S e
oo/ 3= 2T T |
£ 5.B
P A g x-%
) fl{x]=—%x2+2x
¢

f)  None of the above.

Question 12
Your answer 1s CORRECT.

Which of the following functions could represent the graph given below?

15

‘»Z;j. AT

© Even

3:2Lx+2.\ 2 (x+) (%)
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2) © flB)=~(x+1)* (x — 2)°

@ F =2+  x+ )5
0 JE=Gx-2 G+ x+2)7

d) O FB=-2(x+2)° (x+ D7

o O S@=2x+1)7 (x+2)°%

f)  None of the above.

Question 13
Your answer 1s CORRECT.

Which of the following functions could represent the graph given below?

15

() even

\\ne

v

f\P,_ra‘-’\"

Y= LD () K

SRS (LY 2T

by o Fx) =2 (x+2) (x4 1)
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0 O f@)=-x (x+2) (x+ 1)

2 3

d  Slx)=x{z—2) (x=1)
o S@=-x x+2) (x4 1)

f)  None of the above.

Question 14
Your answer 1s CORRECT.

Give the degree of the polynomial
' ! 3 4
plr)=-10x(x—2) (zx+4) (x+2)

v L +3+4= 9
® 9

¢c) 12

d 4

e) 1

f) ~ None of the above.

Question 15

Your answer 1s CORRECT.
X =1 nhf‘r_f_?l' fy=0

Y -in\‘cru(‘" X=0

p
0= - (x—H) 100

2
(x-4) =100
*""": |° x-‘i' - -lb

Find the x- and y- intercepts for the parabola
2
y=-(x—4) + 100
a)  x-intercepts: (14, 0); y-intercept: (0, 84)

b) = x-intercepts: (14, 0), (-6, 0); y-intercept: (0, 100)

x-intercepts: (14, 0), (-6, 0); y-intercept: (0, 84 - -
© pts: (14, 0). (-6, ) pt: (0, 84) e 0= -l
d)  x-intercepts: (14, 0), (-6, 0); y-intercept: (0, 116) Cwe)o) (o)
e)  x-intercepts: (15, 0), (-5, 0); y-intercept: (0, 84) y=- Llu) tloe
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f)  None of the above.

Question 16
Your answer 1s CORRECT.

Give the function graphed below

[x+4) Lx 12> b2

20

0=

fue: Ql'i'b‘ﬁ-“' &) (== 2 v 104
23 v -\

(4 odd

FOyz %2l ¥ 8%

a) O SR =-% +45 +az—16

b) O flx)=x —x +2x+16
3 2
¢  Jlr)=x —d4x +4x+16

@ Fx)=r +4x —4x—16

0 O S =F —47 —4z—4

f)  None of the above.

Question 17
Your answer 1s CORRECT.

Which of the following functions would result in the graph shown below?
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| re Elect
3 D“'{ \*NAIS
b
- 2-upl
k-l:ﬁ P
\ b le§¥2
T T 2 3 4

- (-—) odd

5
a) Fx)=(x—2) —1 \r -lx+2) +\

b) O F(x)=(x+2) +1
g 0 Fl)=-(x+2)"~1
® Flx)=-(x+2) +1

e O Flx)=-(x—2) +1

f)  None of the above.

Question 18
Your answer 1s CORRECT.

Which of the following functions would result in the graph shown below?
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4
Q2 I o
N 27
1_
Tk F A 1 3 13
_1— X
L—lr\) N
_3—
_4-_—
4 = (x+2) -
@¢ /W=(+2" =1 ‘j

b O Fx)=(x—2)" + 1
g 0 Fl)=-(x+2)"~1

d) © Flx)=-(x+2) +1

o O FR)=(x—2)"~1

f)  None of the above.

Question 19

Your answer 1s CORRECT.

Find all x-intercept(s) of the polynomial

3
)

p(x)=-Tx(x+10) (x—6)" (x— 4)

a)  (-10,0),(6,0), (4,0) X=0 X=-10 X=L xX=¢%

b)  (-7.0).(-10,0).(6,0), 4.0) Loyo) L-19,6) (w0 Lho)
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@ (0, 0), (-10, 0), (6, 0), (4, 0)
d (0,0)
e) (10,0), (-6, 0),(4,0),(0,0)
f) = None of the above.

Question 20

Your answer 1s CORRECT.
KR=0

Find the y-intercept(s) of the polynomial
px)=-3% (x+7) (x=5)°" (x+4)
a) (-7,0.(5.0).(-4.0  pw) = O
® © ©.0
¢)  (0,0), (-7.0). (5,0, (4, 0)
d)  (7,0), (-5, 0), (-4, 0), (0, 0)
e)  (-3,0),(-7,0), (5 0)

f) ~ None of the above.
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